Report 170927



KLpipipiO BG

* 9 data type

— Run62_24kW, 62_27kW, 63 _27kW, 63_29kW,
63 32kW, 64 _32kW, 64 39kW, 65 39kW, 65 42kW
— Accidental files for each run period & beam power

* If there was no accidental files, Acc. For Run62_24kW is
used

* No Acc.files for newBHCV, BHGC, BPCV in Run63_27 ~

— Recycling method is used
* 5e3*5e2*2e7(Nfiles*Nrecycle*Nkaon) event
e 3.98e14 kaon(including BR)
* All data set are normalized to MC
* No cuts are applied about Neutron



BG estimation for Run62_27
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BG estimation for 2015

ht
ht

— Entries 2812

- Mean x 4331

- : Meany  106.3

- s RMS x 469.9

- 0(0.000006) RMS y 20

3 _ ; oo

= 21(0. 0200,4.6.) ............................................. 134(0.147364)

- —15

= 236(0. 26064.1-)

=2 i 8"

§_ _.- """"""""" ' 5'#';

- T (2.6 632477) 5

:I 111 | 1 11 1 | 1 11 1 ; 1 11 1 | 1 11 1 | 1 11 1 | 1 11 1 i 1 11 1 | 1 11 1 | 1 11 1 0

00 2000 2500 3000 3500 4000 4500 5000 5500 6000 6500



Thermal Bath Study

7.2*%14,5*23.0cm3 Al Box TS —————

Fixed with tape

* Check feedback of
temperature inside Al
Box
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Al Box is located at upstream of heat
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. Linear Calibration
Al Box is located at upstream of heat
1h 40min
40
30
20




Temp [°C]

50

Attenuation looks related to operation time
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Run62 24
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Runé3 27

IIII|IIII|IIII;IIII|IIII|IIII|IIII¥IIII|IIII|IIII

hSig_2
hSig_2

~ Entries 258
- Mean x 4351
- : Meany 106.4
— : RMS x 439
- 0(0.000000) RMSy 19.15
- 2(0. 000608) ................................................ 12(0.00364
- 22(0. 006690)

O[TTTI

3

0 2000 2500 3000 3500 4000 4500 5000 5500 6000 6500




500
450
400
350
300
250
200
150
100

50

13

Run63 29
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Runé3_ 32
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Run64 32
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Run64 39
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RUn65 39
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Runé5 42
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